ASSEMBLY INSTRUCTION

RATTAN SOFA SET

WF194809AAD; WF194810AAD; WF194811AAD
WF194809AAE; WF194810AAE; WF194811AAE




Part List & Hardware

A B ﬁiﬁffffffs C D
(1pc)

E F éfff%ffﬁ7
(1pc)

[ J

(2pcs) (1pc) (1pc) (7pcs)
M N o] 1
M6 x 40 mm
(2pcs) (2pcs) (3pcs) (25 pcs)
2 3 4 5 6 7
~=e| # | TN % @
,
M6 x 55 mm M6 x 110 mm M8 x 20 mm M4 x 98mm
(16 pcs) (2 pcs) (8 pcs) (2 pcs) (2 pes) (16 pcs)

02/8




@
@*5 03/8




STEP 3:

7r4

©

2r4

STEP 4:




@*4 ®*4 05/8




T?%s

STEP 7:

®r2

STEP 8:

06/8

48




14

STEP 10:

07/8




STEP 11:

STEP 12:




	1.pdf (p.1)
	Layout1

	2.pdf (p.2)
	Layout1

	3.pdf (p.3)
	Layout1

	4.pdf (p.4)
	Layout1

	5.pdf (p.5)
	Layout1

	6.pdf (p.6)
	Layout1

	7.pdf (p.7)
	Layout1

	8.pdf (p.8)
	Layout1


